Chapter 13 Review Worksheet
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Evaluate the trigonometric function. Give an ex%nct answer. 3
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Evaluate the six trigonometric functions of 6.
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NO CALCULATOR, MAY USE UNIT CIRCLE

Evaluate the function without using a calculator (i.e. ALLANSWERS SHOULD BE EXACT, NO DECIMALS).
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MAY USE CALCULATOR, MAY USE UNIT CIRCLE AND FORMULAS

23.) InAABC,a = 4,b = 5,and C = 90°. Evaluate the six trigonometric functions of angle B.
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Let 8 be an acute angle of a right triangle. Find the values of the other five trigonometri i ‘\r p.
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Solve AABC using the diagram and the given measurements. Round answers to the nearest tenth, when
necessary.
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27.) You are standing 50 meters from a hot air balloon that is preparing to take off. The angle of elevation to
the top of the balloon is 28°. Find the height of the balloon.
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28.) You use a 12 foot ramp to load items into a van. If the floor of the van is 4 feet off the ground, what is the
angle of elevation of the ramp?
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Sketch the angle. Then find its reference angle. Answer in the unit of the given angle.
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Find one positjve angle and one negative angle that are coterminal with the given angle.
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Convert the degree measure to radians or the radian measure to degrees.
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Use your calculator to evaluate the trigonometric functions. Round your answers to the nearest tenth.
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Find the arc length and area of a sector with the given radius r and central angle 6. Round answers to the

nearest hundredth. A‘L L(ﬂ(&m N ‘(‘G ﬁ"ﬂ(}* ﬂ - Z_f 0 6= !Gd\um‘.
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Use the given point on the terminal side of an angle 6 in standard position to evaluate the six trigonometric

functions of 6. l___ _
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47.) You and a friend are driving golf balls at a driving range. Your drive has an angle of elevation of 37° with
an initial velocity of 140 feet per second. Your friend’s drive has an angle of elevation of 45° and an initi al
velocity of 135 feet per second. Which ball udels the farthest and by how much?
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Solve the equation for 6.

“48.) sin 8 = 0.27; 90° < 0 < 180° 49.) tan 6 = 0.42; 180° < 6 < 270°
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50.) tan @ = =2.5; 270° < 8 < 360° 51.) cos @ = —0.65; 180° < 8 < 270°
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Solve AABC. Round answers to the nearest tenth.
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62.) To measure the width of a river, you plant a stake at point
A on one side of the nverbank, directly across from a tree
stump at point B on the other side of the riverbank. From
point A, you walk 80 meters along the riverbank to point C.
You find the measure of angle C' 10 be 39°. What is the
width w of the river?
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03.) A cranc has a 200 foot arm with a lower end that is 5 feet off the ground. The arm has to reach to the top of
a building that is 160 fect high. At what angle 8 should the arm be set?

s
QX
1.0

. 155
smG'-{%a

_l‘gﬂlﬂ 100 £t @

Scanned by CamScanner




Sin

(S  pnod: 2%

Foon yrriod: 7

Graph one period of the function. Identify its domain, range, amplitude, period, and x-/y-intercepts.

64.) y = 4sin 2x

" domain: “L range: [__L*. Li]
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amplitude: \‘} period: )

x-int: O‘ fi%| T\'

y-int: (0 | 0)

60.) y = 3 cos f,x
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68.) y = 2tan 2x
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y-int: ( 0, 3)
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65.) y = 5cos %nx
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